
Answer key special Exam -2

1. a) Fw.]n \mcm-b-W-]n≈

2. a) B-K-a-k‘n

3. b) cma-N-{µ-hn-emkw

4. a) D≈q¿

5. a) [¿Ω-cmP

6. a) ]q+ Xn¶ƒ

7. d) D∏v

8. b) Iev +aZw

9. c) Ihpßv

10. a) h≈-tØmƒ

11. c) Untidy

12. c)en

13. c) twitter

14. d) Clucks

15. b) fawn

16. a) joey

17. c) yours

18. d) anyone

19. d) colleague

20. a) Dictionary

21. c) Encyclo paedia

22. b) begining

23. a) commence

24. a) Rainbow

25. c) forget

26. c) Compound

27. a) is

28. a) rises

29. c) is

30. c) Each

31. a) 900

               
 I =

 PNR 
=

 2500x12x3 
= 900

                     100            100

32. b) 500

        
 I = 

1000x10x5 
= 500

                            100

33. c) 1816

          
I =

 1600 x9x3

                           2x100     
  = 216

        XpI = 1600 + 216 = 1816

34. a) 3√√√√√2

       Hcp a´-{Xn-tIm-W-Øns‚
           hißƒ XΩn-ep≈
            Awi-_-‘w  = 1:1:√2
                 c≠v hiw = 3 sk.ao

   \ofw IpSnb hiw = 3√2

35. b )  )  )  )  ) 1cm, 2cm, 3cm

       Hcp {XntIm-W-Øns‚ sNdnb c≠v hi-ß-fpsS
  XpI aq∂m-asØ henb hi--tØ-°mƒ IqSp-

X-em-bn-cn°pw .    1+2 = 3

36. a) 60) 60) 60) 60) 6000000

   ka-`pP{XntImWØns‚ Hcp tIm¨ = 180/3 = 60
0

37. b) 1250) 1250) 1250) 1250) 1250

     10 {]m-h-iyw Id-ßp-tºmƒ 32 ao‰¿ k©-cn°pw

 4000 ao‰¿ k©-cn-°m≥ = 10 x 4000 
= 1250 {]mh-iyw                                 32

38.     b) 125%) 125%) 125%) 125%) 125%

    h¿≤-\hv = 2r + r2

                                                  100

                                        = 2 x 50 + 50 x 50

                                                             100

                                        = 100+25 = 125%

39. b) 200) 200) 200) 200) 200

                                     d= 20 cm

ka-N-Xp-c-Øns‚ hnI¿Æw = hrØ-Øns‚ hymkw

ka-N-Xp-c-Øns‚ hnkvXo¿Æw = d2

/2

                                           
   = 

20x20

        2     
 = 200



Maths Explanation

40. d) 8 N.-sk.anN.-sk.anN.-sk.anN.-sk.anN.-sk.an

                     b = l - 2

       Np‰-fhv = 2(l+b) = 12

                        2(l+l-2) = 12

                           2l - 2 = 6

                               l=4,   b=2

         hnkvXo¿Æw  = lxb

                                     = 4x2 = 8cm2

41. c) 2550) 2550) 2550) 2550) 2550

                       l = 2b + 25 l = 85

                       2b + 25 = 85

                               2b = 85-25 = 60

                                  b = 60
/2

   = 30

   NXp-c-Øns‚ hnkvXo¿Ww  = lxb

                                                  = 85 x30

                                                  = 2550 cm2

42. a) 8) 8) 8) 8) 8

   Istka-N-Xp-c-Øns‚ hnkvXo¿Ww = 16 m2

   hi-Øns‚ a[-y-_nµp D]-tbm-Kn®v ho≠pw ka-N-
   Xpcw hc-bv°p-tºmƒ sNdnb ka-N-Xp-c-Øns‚
   hnI¿Ww henb ka-N-Xp-c-Øns‚ hi-ambn amdp-∂p.

  sNdnb ka-N-Xp-c-Øns‚ hnI¿Ww = 4ao

                                                  a2 = d2

/2
                                                              = 4x42

/8
 = 8

43. d) UHND

          F  O  U  R T  I  M  E

               +1/-1/+1/-1 +1/-1/+1/-1

                G  N  V  Q              U  H  N  D

44. a) 149320

                    A  D  I  C  T

                    /    /   /   /    /

                   1   4   9  3  20

45. b) 2615

          69 - 98 = 6998, 72 - 48 = 7428, 21 - 65 = 2615

46. c) HmS-Ip-g¬ (kpjn-c-hm-Z-yw)

47. c) 312 (a-‰p≈h h¿K-ßƒ)

48. b) UWY

A  D  G    U  W  Y G  J  M       M  P  S
               +3   +3         +2 +2 +3    +3            +3    +3

( ( ( ( ( ( ( (

50. c)  T Y

            A       E       J       O       T       Y

           1        5      10     15    20 25

49. d) R-20

                      +2         +2         +2          +2

        J- 12,   L-14, N- 16,  P- 18,  R- 20

                +2             +2          +2           +2

) ) ) )))))

( ( (


